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QUESTION 1

When using the tracert program to test the path through which the target node passes, the default is to measure each
TTL value Traceroute () times.

A.3
B. 4
C.5
D.6

Correct Answer: A

QUESTION 2

What are the main functions of Reverse Address Resolution Protocol (Inverse ARP)? (multiple choice)
A. Find the hardware address of the device through the network address of the network device

B. Find the connected DLCI number

C. Find the protocol address of the peer device connected to the virtual circuit in the frame relay network.
D. Generating the mapping of the peer protocol address and DLCI in the frame relay network

Correct Answer: CD

QUESTION 3

When the port of Hybridrid sends a message, what are the following statements correctly? (multiple choice)
A. Hybrid port can implement packet stripping label sending in multiple VLANSs.

B. When the Hybrid port and the trunk port send data, the processing method is the same.

C. Hybrid port does not contain VLAN tag for sending data;

D. The data sent by the Hybrid port may have a VLAN 1 tag.

Correct Answer: AD

QUESTION 4

| will assign you a Class C IP network 192.16.24.0. After dividing 7 subnets, what is the maximum number of hosts per
subnet?

A. 30
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B. 31

C.32
D. 33
E. 34

Correct Answer: A

QUESTION 5

When the network topology changes, if the best path to the destination IP is no longer available, the dynamic routing
protocol can adapt to the network change and determine the best path to the destination IP.

A. True
B. False

Correct Answer: A
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